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2 501 | SEAbH M M

3 502 | ZEEeT M M M | 21.51 | & M M | 22.00
4 502 | 2IrHE M v M |24.39| & M M | 25.48
5 503 | EfEr | v M | 23.66| & M M | 25.50
6 503 | W | | |

7 504 | IEmEH % % %

8 504 | BoRE | | v

9 505 | &EE | | |

10 [505 | mEmEs | V1

11 |506 | #kficEr | v M | 22.87T| o M M | 24.46
12 |506 | = | | v

13 507 | mwes | | V1

14 |507 | Mg | | V1
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16 [508 | #A== | | |

17 509 | mg= | v
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8 504 | zeE | o | v
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10 (505 | mRe | M v

11 |506 | #aer | M | |

12 |506 | #Em | M | M

13 [507 | mwx | M v

14 [507 | w#pipet | M | |

15 (508 | mEE | M M M |36.3| & | M | 36.42
16 [508 | mmm | M | M

17 (509 | s | M | |

18 509 | =g M M | 36.43 M M 39. 26




